

#### Government of India

Ministry of Finance, Department of Revenue

### OFFICE OF THE DEPUTY COMMISSION CUSTOMS DIVISION, IMPHAL.

Sangakpham, Opposite DAV Public School, Imphal-196

Phone: 0385-2422188; Fax: 0385-2423347; E-mail - customsin

C.NO. VIII(48)07/RTI-MISC/TECH/CUS/IMP/15-16/

MAY 2017

To

Smt. M. Sailakshmi D.No. 7-14-27, Valluri Vari Thota 1<sup>st</sup> Floor, Gunur, Andhra Pradesh – 522 002

Sub: Information under Right to Information Act, 2005 - reg.

Madam.

Please refer to your RTI application dated 10.01.2017 which was transferred from the O/othe Commissioner of Customs (P), NER Shillong vide C.No.II(35)04/CUS/HQRS/RTI/SH/2017/2512-15(A) dated 24.01.2017.

The desired information in respect of your RTI application pertaining to this Division is enclosed herewith.

Enclo.: As above (4 sheets)

Yours faithfully,

(Gaikhonlung Panmei) Deputy Commissioner (CPIO)

C.NO. VIII(48)07/RTI-MISC/TECH/CUS/IMP/15-16/ C29-45

Dated: 15.05.2017

Copy forwarded to

1. The CPIO/Assistant Commissioner, O/o the Commissioner of Customs (Preventive), NER, Shillong with reference to letter C.No.II(35)04/CUS/HQRS/RTI/SH/2017/2512-15(A) for information and necessary action.

2. The Superintendent (Computer & Training Cell), Hgrs. Office, Shillong for information & necessary action.

(Gaikhonlung Panme

Deputy Commissioner (CPIO)

# Government of India Ministry of Finance Department of Revenu OFFICE OF THE DEPUTY COMM CUSTOMS DIVISION: IMPHAL

ORDER

Imphal the 27.03.2015

The Assistant Commissioner, Customs Division, Imphal is pleased to accord approval and financial sanction of Rs. 49005/-(Rupees Forty nine thousand and five) only 27.03.2015, in respect of Sri.N.Thonkhojam T/S, towards the payment of arrear from Jul 13 to Feb.15, in pursuance of order no. 72/2012, dated 20<sup>th</sup> April 2012 of the Deputy Commissioner, Office of the Chief Commissioner, Central Excise, Customs and Service Tax, Shillong.

He will enjoyed new pay band of 6090 + 1800 (GP) w.e.f., March 2015.

The expenditure will be met from the sanction grant of WAGES HEAD-2014-15

(NGORU RUSTUM MON)
ADMINISTRATIVE OFFICER

Dated: 29. 2.1)

1(22)6/ADM/MISC/CUS/ACI/2010-11 5 108

Copy forwarded for information to :-

1. The Assistant Chief Account Officer, Customs House, Shillong.

2. The Pay and Accounts Officer, Crescene Building, M.G.Road, Shillong.

(NGORU RUSTUM MON)

ADMINISTRATIVE OFFICER

PAY TO BE DRAWN
-----------------

ANNEXURE-B

				1							
SI No.	Month	Pay Band	Grade pay	Basic	TA	HRA	SCA	DA	SDA	GROSS AMT.	DA
1	JUL.13	5860	1800	7660	760	766	1500	6894	958	18538	90%
2	AUG.13	5860	1800	7660	760	766	1500	6894	958	18538	
3	SEPT.13	5860	1800	7660	760	766	1500	6894	958	18538	
4	OCT.13	5860	1800	7660	760	766	1500	6894	958	18538	
5	NOV.13	5860	1800	7660	760	766	1500	6894	958	18538	
6	DEC.13	5860	1800	7660	760	766	1500	6894	958	18538	
7	JAN.14	5860	1800	7660	800	766	1875	7660	958	19719	100%
8	FEB.14	5860	1800	7660	800	766	1875	7660	958	19719	
9	MAR.14	5860	1800	7660	800	766	1875	7660	958	19719	
10	APRL.14	5860	1800	7660	800	766	1875	7660	958	19719	
11	MAY.14	5860	1800	7660	800	766	1875	7660	958	19719	
12	JUN.14	5860	1800	7660	800	766	1875	7660	958	19719	
13	JUL.14	6090	1800	7890	828	789	1875	8442	986	20810	1079
14	AUG.14	6090	1800	7890	828	789	1875	8442	986	20810	
15	SEPT.14	6090	1800	7890	828	789	1875	8442	986	20810	
16	OCT.14	6090	1800	7890	828	789	1875	8442	986	20810	
17	NOV.14	6090	1800	7890	828	789	1875	8442	986	20810	
18	DEC.14	6090	1800	7890	828	789	1875	8442	986	20810	
19	JAN.15	6090	1800	7890	828	789	1875	8442	986	20810	
20	FEB.15	6090	1800	7890	828	789	1875	8442 V	986	20810	

155040 15984 15504 35250 154860 19384 396022

ANNEXURE A - ANNEXURE B = 396022-347017 = 49005/-Hence, arrear payable from July 13 to Feb.15 Rs. 49005/-

mg/27/3/15

## PAY DRAWN

ANNEXURE-A

SI.No.	Month	Days	Rate	Total	
	JUL.13	30	520	15600	
	AUG.13	29	520	15080 15600 16120 15600	
	SEPT.13	30	520		
	OCT.13	31	520		
	NOV.13	30	520		
	DEC.13	31	520	16120	
V	JAN.14	31	520	16120	
	TA/DA ARREAR FR	5375			
	FEB.14	28	545	15260	
	MAR.14	31	545	16895	
	TA/DA ARREAR FR	2160			
	APRL.14	30	569	17070	
	3 MAY.14	31	569	17639	
	4 JUN.14	30	569	17070	
	5 JUL.14	31	578	17918	
1.	TA/DA ARREAR FO	OR JUL.14		614	
1	6 AUG.14	31	598	18538	
	7 SEPT.14	30	598	17940	
	8 OCT.14	31	598	18538	
-	9 NOV.14	30	598	17940	
	20 DEC.14	31	598	18538	
	21 JAN.15	31	598	18538	
	22 FEB.15	28	598	16744	
- 4	ZZ FED.13		247017		

347017

mg/27/3/15

### Statement of fixation of pay under Central Civil Service (Revised Pay) Rules, 2016

: N.Thangkhojam

1 Name of the Employee : M.T.S. Designation of the post in which pay is to be 2 fixed as on January, 2016 : Substantive Status (substantive/officiating) 3 GP-180 : PB-1 (5200-20200) Pre-revised Pay Band and Grade Pay or scale 4 6330 + 1800 5 **Existing Emoluments** : Rs. 8130 a) Basic Pay (Pay in the applicable Pay Band plus applicable Grade Pay or basic pay in the applicable scale) in the pre-revised structure as on January 1, 2016. : Rs. 10163 b) Dearness Allowance sanctioned w.e.f. 01.01.2016 : Rs. 18293 c) Existing emoluments (a+b) : Rs. 8130 Basic Pay (Pay in the applicable Pay Band plus applicable Grade Pay or basic pay in the applicable scale) in the pre-revised structure as on January 1, 2016. Applicable Level in Pay Matrix corresponding to Pay Band 7 and GradePay or scale shown at S.No. 4 : Rs. 20894 Amount arrived at by multiplying Sl.No. 6 by 2.57 8 : 6 Applicable Cell in the Level either equal to or just above the Amount at Sl. No. 8 : Rs. 20900/-10 Revised Basic Pay (as to Sl. No. 9) Stepped up pay with reference to the revised Pay of : NA 11 Junior, if applicable [Rule) 7(8) and 7(10) of CCS (RP) Rules, 2016]. Name and pay of the junior also to be indicated distinctly. 12 Revised pay with reference to the Substantive Pay in : NA cases where the pay fixed in the officiating post is lower than the pay fixed in the substantive post if applicable [ Rule 7 (11)] Personal Pay, if any [Rule 7 (7) and 7(8)] : NA Non-Practicing Allowance as admissible at presents in the 14 : NA existing pre-revised structure (in terms of para 4 of this OM) Date of next increment (Rule 10) and pay pay after grant of : 15 increment Date of Increment Pay after increment in applicable Level of Pay Matrix 01.07.2016 Rs 21500/-16 Any other relevant information

a2/8%

Date: Office:

Signature & Designation of Head of Department Assistant Commissioner Customs Division, Impliate